
(1) 

𝐴𝐶#####⃗ = 𝐴𝐵#####⃗ + 𝐵𝐶#####⃗ 、𝐶𝐴#####⃗ = 𝐶𝐷#####⃗ + 𝐷𝐴#####⃗ 、)𝐴𝐶#####⃗ ) = )𝐶𝐴#####⃗ )より 

)𝐴𝐵#####⃗ + 𝐵𝐶#####⃗ )
!
= )𝐶𝐷#####⃗ + 𝐷𝐴#####⃗ )

!
 

⇔ )𝐴𝐵#####⃗ )
!
+ 2𝐴𝐵#####⃗ ∙ 𝐵𝐶#####⃗ + )𝐵𝐶#####⃗ )

!
= )𝐶𝐷#####⃗ )

!
+ 2𝐶𝐷#####⃗ ∙ 𝐷𝐴#####⃗ + )𝐷𝐴#####⃗ )

!
 

⇔ )𝐴𝐵#####⃗ )
!
+ )𝐵𝐶#####⃗ )

!
= )𝐶𝐷#####⃗ )

!
+ )𝐷𝐴#####⃗ )

!
① 

-∵ 𝐴𝐵#####⃗ ∙ 𝐵𝐶#####⃗ = 𝐶𝐷#####⃗ ∙ 𝐷𝐴#####⃗ / 

(2) 

𝐷𝐵######⃗ = 𝐷𝐴#####⃗ + 𝐴𝐵#####⃗ 、𝐵𝐷######⃗ = 𝐵𝐶#####⃗ + 𝐶𝐷#####⃗ 、)𝐷𝐵######⃗ ) = )𝐵𝐷######⃗ )より 

)𝐷𝐴#####⃗ + 𝐴𝐵#####⃗ )
!
= )𝐵𝐶#####⃗ + 𝐶𝐷#####⃗ )

!
 

⇔ )𝐷𝐴#####⃗ )
!
+ 2𝐷𝐴#####⃗ ∙ 𝐴𝐵#####⃗ + )𝐴𝐵#####⃗ )

!
= )𝐵𝐶#####⃗ )

!
+ 2𝐵𝐶#####⃗ ∙ 𝐶𝐷#####⃗ + )𝐶𝐷#####⃗ )

!
 

⇔ )𝐷𝐴#####⃗ )
!
+ )𝐴𝐵#####⃗ )

!
= )𝐵𝐶#####⃗ )

!
+ )𝐶𝐷#####⃗ )

!
② 

-∵ 𝐷𝐴#####⃗ ∙ 𝐴𝐵#####⃗ = 𝐵𝐶#####⃗ ∙ 𝐶𝐷#####⃗ / 

①+②より)𝐴𝐵#####⃗ )
!
+ )𝐵𝐶#####⃗ )

!
+ )𝐷𝐴#####⃗ )

!
+ )𝐴𝐵#####⃗ )

!
= )𝐶𝐷#####⃗ )

!
+ )𝐷𝐴#####⃗ )

!
+ )𝐵𝐶#####⃗ )

!
+ )𝐶𝐷#####⃗ )

!
 

⇔ 2)𝐴𝐵#####⃗ )
!
= 2)𝐶𝐷#####⃗ )

!
 

⇔ )𝐴𝐵#####⃗ ) = )𝐶𝐷#####⃗ )③ 

(3) 

①−②より)𝐴𝐵#####⃗ )
!
+ )𝐵𝐶#####⃗ )

!
− )𝐷𝐴#####⃗ )

!
− )𝐴𝐵#####⃗ )

!
= )𝐶𝐷#####⃗ )

!
+ )𝐷𝐴#####⃗ )

!
− )𝐵𝐶#####⃗ )

!
− )𝐶𝐷#####⃗ )

!
 

⇔ 2)𝐵𝐶#####⃗ )
!
= 2)𝐷𝐴#####⃗ )

!
 



⇔ )𝐴𝐵#####⃗ ) = )𝐶𝐷#####⃗ )④ 

③、④より向かい合う辺の⻑さが互いに等しいから四⾓形𝐴𝐵𝐶𝐷は平⾏四辺形 

∴ 𝐶𝐷#####⃗ = −𝐴𝐵#####⃗  

これを𝐴𝐵#####⃗ ∙ 𝐵𝐶#####⃗ = 𝐵𝐶#####⃗ ∙ 𝐶𝐷#####⃗ に代⼊すると 

𝐴𝐵#####⃗ ∙ 𝐵𝐶#####⃗ = 𝐵𝐶#####⃗ ∙ -−𝐴𝐵#####⃗ / 

⇔ 𝐴𝐵#####⃗ ∙ 𝐵𝐶#####⃗ = −𝐴𝐵#####⃗ ∙ 𝐵𝐶#####⃗  

⇔ 𝐴𝐵#####⃗ ∙ 𝐵𝐶#####⃗ = 0 

⇔ 𝐴𝐵#####⃗ ⊥ 𝐵𝐶#####⃗  

 

 

 

 

 


